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@ 2.9 @ 0200  @)209

e ol AQUA

@ 2.009 ® 0.29

57 ofel  Ape) 24 02 A & U

@ 2.090 = 2.09
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4.62,4.51,4.25,4.8,4.3,4.07
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o0& 0, O 5012 ¢92 55 #edi=

1.319-@-1.339 - © - 1.359

@® 1.320, 1.340 @ 1.329, 1.339 @1.329, 1.349

@ 1.327, 1.349 ® 1.329, 1.359

0.01 9] zF&9] =271 14 AU,
@ = 1.319 + 0.01 = 1.329
© =1.339+ 0.01 = 1.349




) 28 cm = Dm
()6m750m Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75
® (1) 2.8 (2) 0.675
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(1) lem = 0.01m

28cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m
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(1) 0.4-0.3 = 0.1
(2) 0.7-0.6 = 0.1
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(1) 0.71+0.37  (2) 0.04+0.25

@(1) 1.08 (2) 0.29 @ (1) 1.08 (2) 0.21
@ (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21

(1) 0.71 4 0.37 = 1.08
(2) 0.04 + 0.25 = 0.29
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Yyt
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SR 128004 &L BFe 77 A YA 9o
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(1) 5.98-3.79 (2) 4.71 - 2.69
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(1) 5.98 - 3.79 = 2.19
(2) 4.71 - 2.69 = 2.02
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15.333 — 10.666 — 2.888

=[ ]-2888=[ ]
@ 5.667, 2.779 @ 5.667, 2.778 (3)4.667, 1.779
@ 4.667, 1.778 ® 4.677, 1.779

15.333 — 10.666 — 2.888 = 4.667 — 2.888 = 1.779




(1) 5.307-3.95  (2) 8.56 — 6.64

@ (1) 1.357 (2) 2.02 @ (1) 1.357 (2) 1.96
(@)(1) 1.357 (2) 1.92 @ (1) 1.352 (2) 1.96
® (1) 1.352 (2) 1.92

(1) 5.307 — 3.95 = 1.357
(2) 8.56 — 6.64 = 1.92
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D+0=134,0+©=174,0+© =156
O+0)+(O©+0)+(O+0©)
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